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oA+ 40,000& = 128 * 19 480
o Z A GAH| 120,000& = 128 » 1H 1,440
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
o JIHE X H| 110,000& = 12&€  1H 1,320
o HAEF Y| 1,130,890& * 120% = 1Y 1,358

OMEg 2, MdHaAM=E, AJ)E=HE2, O
WEME2, IIXHE, 9RA 2H 22| (15Y 508,875
)
oJl2Z2(h&2) 1,188,5309 * 12€ » 15H 213,936
SPRG = 1,188,530 * 400% * 15™H 71,312
ocIRaIHFIIY 74,1128 * 122 * 159 13,341
oF5dZRYH 111,200& * 692 * 15Y 115,092
oM MIAYH| 120,000& = 128 * 159 21,600
o JFH 2 | 30,000& = 128 * 15Y 5,400
ol sH 160,000& = 128 * 159 28,800
ol G 100,000& = 128 * 159 18,000
o H&E S IHH| 1,188,530 * 120% * 15™ 21,394
OMg2, CIQuUEMER 2922 (1Y) 31,967
oJlE2Z(14d0let)
1,103,250& * 128 * 1Y 13,239
SPRGE= 1,103,250 * 400%  1H 4,413
cHIRIF Y 69,8403 x 122 * 1Y 839
og5dIZ2RxYH 104,800 * 69 * 1H 7,232
oM MIAY| 120,000& = 12& ~ 14 1,440
o JIH B X4l 30,000& = 128 ~ 1Y 360
ol 160,000& = 12& 14 1,920
ol G 100,000& = 128  1&H 1,200
o " A S| 1,103,250& * 120% = 1H 1,324
OMEZ, UHHAME 2, GHHMLEENEE, 2|
EENEY 222 (3Y) 105,975
oll22(hse) 1,200,300& * 128 = 3Y 43,211
SPRG = 1,200,300 * 400% * 3H 14,404
cHIRIFIIY 77,1843 x 122 * 3Y 2,779
o524 115,840& * 69 * 3H 23,979
oS4 H 50,000& = 128 = 3Y 1,800
oMAXHALE 160,000& = 12&€ * 3H 5,760
ofE Y 40,0003 * 128 39 1,440
o MM I A 120,000& » 128 = 39Y 4,320
o JIH B X H| 110,000& = 128 = 39 3,960
o HAEFIHHI 1,200,300 * 120% * 3Y 4,322
ONg2, HHAMEZ 2922 (2Y) 74,063
oll22(hse) 1,239,510& x 128 * 29 29,749
SPSGE= 1,239,510 * 400% * 2H 9,917
cHXRIF Y 80,9203 x 122 * 29 1,943
og5dIZ2RxYH 121,440 * 69 * 2™ 16,759
oSxdfLH 100,000& = 128 * 29 2,400
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
oMAXHALE 160,000 = 128 = 29 3,840
oE G 40,0008 * 128 29 960
o M MIFAY| 120,000& = 128 * 2H 2,880
o JbH B2 4| 110,000& = 128 * 29 2,640
o HAEF Y| 1,239,510& * 120% *» 2Y 2,975
ONg2 2 MEOMHYE2(1Y) 33,526
oJlE22(4se) 1,170,960& * 128 » 14 14,052
SPNRGE= 1,170,960& * 400% = 1H 4,684
cHIRIF Y 73,2323 x 122 * 1Y 879
osadZRH 109,920 » 692 * 1H 7,585
oM MI A 120,000& = 128 ~ 1H 1,440
o JIH B X H| 30,000 » 128 = 1H 360
ol 160,000& = 128 ~ 1Y 1,920
o0l 3 4= 100,000& » 128 = 194 1,200
o d&EF Y| 1,170,960& * 120% = 1Y 1,406
ON&gz & AHAM=R 2H22](1Y) 33,124
oJll22(3ze) 1,153,650& * 128 * 1Y 13,844
SENI0: =] 1,153,650 * 400% = 1Y 4,615
cHINKIFIILE 72,368 * 122 x 1H 869
ox5dZR4H 108,560 * 69 * 1H 7,491
o HHFAH| 120,000 = 12&€  1H 1,440
o JFH 2 4| 30,000& = 128 = 1Y 360
oXdd4g 160,000 = 128 = 1H 1,920
ol LG 100,000& = 128 ~ 1H 1,200
o HAEFIHH| 1,153,650& * 120% » 1Y 1,385
Jl=23Hl 55,298 50,170 5,128
Jl2dH|(s=2ZAEHIEHER) 55,298 50,170 5,128
201 Yet2 | 46,978 43,330 3,648
01 AtR 22l bl 46,818 43,170 3,648
OBAMd&Y I8 250,000 = 12& 3,000
OANEE2E RU(SAMX S) 300,000 = 12& 3,600
O#EHARID| A28 2 12,120
o S AHD| 300,000 * 200 = 444 * 23| 4,800
oITZIHI|I(EWM, HHAEE)
300,000& * 3CH * 444 % {1 53| 5,400
oL ZIHI|(EH) 300,000& * 3CH = 23] 1,800
oA 120,000& ~ 104 = 13 120
ONEEXU2 20,000& x 382 » 128 720
O&F%I gz 49,9008 = 504 x 12€ 2,994
==l 8,000& * 27 * 7L x 12& 18,144
O Al 60,000 * 2 =« 52l 6,240
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